

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Serdica

Mathematical Journal

Сердика

Математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.
Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Mathematical Journal
which is the new series of
Serdica Bulgaricae Mathematicae Publicationes
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

ON THE CONVERGENCE OF (0,1,2) INTERPOLATION

Y. E. Muneer

Communicated by E. Horozov

ABSTRACT. For the Hermite interpolation polynomial, $H_m(x)$ we prove for any function $f \in C^{(2q)}([-1, 1])$ and any $s = 0, 1, 2, \dots, q$, where q is a fixed integer that

$$|H_m^{(s)}(x) - f^{(s)}(x)| = O(1)\omega\left(\frac{1}{m}, f^{(2q)}\right)\frac{\log n}{n^{2q-2s}}.$$

Here m is defined by $m = 3n - 1$.

If $f \in C^{(q)}([-1, 1])$, then

$$|H_m^{(s)} - f^{(s)}(x)| = O(1)\omega\left(\frac{1}{m}, f^{(q)}\right)\frac{\log n}{(1-x^2)^{q/2}}$$

for $x \in (-1, 1)$.

2000 *Mathematics Subject Classification*: 41A05.

Key words: Zeros, modulus of continuity, interpolation process, approximation.

1. Introduction. Suppose we have the triangular matrix

$$(1.1) \quad A(T) : \{x_{i,n}\}_{i=1}^n, n = 1, 2, 3, \dots$$

where

$$(1.2) \quad x_{i,n} = \cos \frac{2i-1}{2n} \pi, \quad 1 \leq i \leq n; n = 1, 2, 3, \dots,$$

are the roots of Tchebysheff polynomial

$$(1.3) \quad T_n(x) = \cos(n \arccos x), \quad n = 1, 2, 3, \dots$$

Corresponding to the matrix (1.1), suppose we have the matrices

$$(1.4) \quad M = \{m_{i,n}\}_{i=1}^n$$

where $m_{i,n} = 3$ and

$$(1.5) \quad Y = \left\{ f_{i,n}^{(s)} \right\}_{i=1}^n, \quad s = 0, 1, 2.$$

Here $f(x)$ is a real function defined on $[-1, 1]$ and $f_{i,n}^{(s)} = f^{(s)}(x_{i,n})$.

From theory of interpolation [4], we know that for given function $f(x)$ there exists an interpolation polynomial $H_{3n-1}(x, Y, A)$ of explicit form such that

$$(1.6) \quad H_{3n-1}^{(s)}(x_i, Y, A) = f_i^{(s)}$$

for $s = 0, 1, 2$ and $i = 0, 1, 2, \dots, n$. In the last equation we have dropped the second index n and will be dropped in further equations. The explicit form of $H_{3n-1}(x, Y, A)$ is given by the following formula

$$(1.7), \quad H_{2n-1}(x, Y, A) = \sum_{i=1}^n f_i r_i(x) + \sum_{i=1}^n f_i' q_i(x) + \sum_{i=1}^n f_i'' z_i(x)$$

where

$$(1.8) \quad r_i(x) = \left\{ 1 - \frac{3}{2}(x - x_i) - \frac{3}{2} \left[\frac{x_i^2}{(1 - x_i^2)^2} + \frac{n^2 - 1}{2(1 - x_i^2)} \right] (x - x_i)^2 \right\} l_i^3(x),$$

$$(1.9) \quad q_i(x) = \left\{ (x - x_i) - \frac{3x_i}{2(1 - x_i^2)}(x - x_i)^2 \right\} l_i^3(x),$$

$$(1.10) \quad z_i(x) = \frac{1}{2}(x - x_i)^2 l_i^3(x),$$

and

$$(1.11) \quad l_i(x) = \frac{T_n(x)}{T'_n(x_i)(x - x_i)}.$$

The interpolation process of the form given by (1.7)–(1.11) was not investigated before. In this paper we prove the convergence of the interpolation process to the function together with the derivatives up to order q . Also we give an estimate for the error. The convergence is given in the following

Theorem 1.1. *Let f be an arbitrary real function defined on $[-1, 1]$. Suppose that $f \in C^{(2q)}([-1, 1])$. Then the following inequalities hold true for all $x \in [-1, 1]$,*

$$(1.12) \quad |f^{(s)}(x) - H_{3n-1}^{(s)}(x, Y, A)| = O(1)\omega\left(\frac{1}{n}, f^{(2q)}\right) \frac{\log n}{n^{2q-2s}}, \quad s = 1, 2, \dots, q$$

i.e

$$H_{3n-1}^{(q)}(x, Y, A) \rightarrow f^{(q)}(x) (n \rightarrow \infty) \quad \text{uniformly if } \omega\left(\frac{1}{n}, f^{(q)}\right) = o(1)[\log n]^{-1}.$$

If $f \in C^{(q)}([-1, 1])$, then

$$(1.13) \quad |f^{(q)}(x) - H_{3n-1}^{(q)}(x, Y, A)| = O(1) \frac{\omega\left(\frac{1}{n}, f^{(q)}\right)}{(1 - x^2)^{q/2}} \log n$$

for $|x| < 1$.

2. Preliminaries. In this section we briefly introduce the most important formulas and definitions needed for our proofs. It is obvious from (1.3) , and (1.10) that

$$(2.1) \quad T'_n(x_i) = (-1)^n \frac{n}{\sqrt{1-x_i^2}}, \quad 1 \leq i \leq n; \quad n = 1, 2, 3, \dots$$

and

$$(2.2) \quad \sum_{i=1}^n |l_i^2(x)| \leq 2$$

for $|x| \leq 1$, i.e,

$$(2.3) \quad |l_i(x)| \leq \sqrt{2}, \quad i = 1, 2, 3, \dots, n, \quad |x| \leq 1.$$

For the Lebesgue function [5] we have

$$(2.4) \quad \frac{\log n}{8\sqrt{\pi}} \leq \max_{|x| \leq 1} \sum_{i=1}^n |l_i(x)| \leq \frac{2}{\pi} \log n.$$

We shall use the well known S. Bernstein's [1] and Markov's [5] inequalities which are given as follows (see respectively [2, 5]).

For any polynomial $g_k(x)$ with real coefficients and degree k , we have

$$(2.5) \quad |g_k^{(q)}(x)| = O(1) \frac{k^q}{(1-x^2)^{q/2}} \max_{|x| \leq 1} |g_k(x)|,$$

$$(2.6) \quad |g_k^{(q)}(x)| = O(1) k^{2q} \max_{|x| \leq 1} |g_k(x)|.$$

For our proofs, we need the following

Theorem 2.1 (I. E. Gopengous [3]). *Let $f(x) \in C^{(q)}([-1, 1])$ be a real valued function. Then there exists a polynomial $G_m(x, f)$ of degree at most m ($m \geq 4q + 5$), such that the inequality*

$$(2.7) \quad |f^{(i)}(x) - G_m^{(i)}(x, f)| = O(1)\omega\left(\frac{\sqrt{1-x^2}}{m}\right)^{q-i},$$

holds true for $i = 0, \dots, q$ and for all $x \in [-1, 1]$. Here $\omega(\delta, f^{(q)})$ is the modulus of continuity of $f^{(q)}(x)$.

3. Proof of the Theorem 1.1. Let $G(x)$ be the Gopengaus polynomial of degree at most $3n - 1$. From theory of interpolation [5] we have

$$(3.1) \quad G(x) \equiv H_{3n-1}(x, Y_g, A)$$

where

$$(3.2) \quad Y_g = \{G^{(s)}(x_i)\}_{i=1}^n \quad (s = 0, 1, 2)$$

Using Markov's inequality (2.6) we obtain

$$(3.3) \quad |G^{(s)}(x) - H_{3n-1}^{(s)}(x, Y, A)| = O(1)n^{2s} \max_{|x| \leq 1} |G(x) - H_{3n-1}(x, Y, A)|,$$

for $s = 0, 1, 2, \dots, q$.

Hence from (1.2), (1.3), (1.6)–(1.11), (2.7) together with (3.1) we get for $f \in C^{(2q)}([-1, 1])$

$$(3.4) \quad |G(x) - H_{3n-1}(x, y, A)| \frac{O(1)\omega\left(\frac{1}{3n-1}; f^{(2q)}\right)}{n^{2q}} \{J_1 + J_2 + J_3\},$$

where

$$(3.5) \quad J_1 = \sum_{i=1}^n (1-x_i^2)^q \left\{ |l_i^3(x)| + \frac{|l_i(x)|}{n^2(1-x_i^2)} + |l_i(x)| \right\},$$

$$J_2 = \sum_{i=1}^n (1-x_i^2)^q \left\{ |l_i^2(x)| + \frac{|l_i(x)|}{n\sqrt{1-x_i^2}} \right\},$$

and

$$J_3 = \sum_{i=1}^n (1 - x_i^2)^q |l_i(x)|.$$

Using (2.2)–(2.4) and (1.2) into (3.3) we get

$$(3.6) \quad \begin{aligned} J_1 &= O(1) \log n \\ J_2 &= O(1) \\ J_3 &= O(1) \log n \end{aligned}$$

Thus (3.6) when substituted in (3.4) and the result into (3.3) we get

$$(3.7) \quad |G^{(s)}(x) - H_{3n-1}^{(s)}(x, Y, A)| = O(1)\omega\left(\frac{1}{n}, f^{(2q)}\right) \frac{\log n}{n^{2q-2s}}$$

for all $n \geq \left\lceil \frac{8q}{3} \right\rceil + 2$ and $s = 0, 1, 2, \dots, q$.

Using the triangular inequality, (2.7) and (3.7) we come to

$$(3.8) \quad \begin{aligned} |f^{(s)}(x) - H_{3n-1}^{(s)}(x, Y, A)| &\leq \\ &\leq |f^{(s)}(x) - G^{(s)}(x)| + |G^{(s)}(x) - H_{3n-1}^{(s)}(x, Y, A)| = \\ &= O(1)\omega\left(\frac{1}{n}, f^{(2q)}\right) \frac{\log n}{n^{2q-2s}} \end{aligned}$$

for all $n \geq \left\lceil \frac{8q}{3} \right\rceil + 2$ and $s = 0, 1, 2, \dots, q$.

Using S. Bernstein's inequality (2.5) and (3.1) we get

$$(3.9) \quad \begin{aligned} |G^{(q)}(x) - H_{3n-1}^{(q)}(x, Y, A)| &= \\ &= O(1) \frac{n^q}{(1-x^2)^{q/2}} \max_{|x| \leq 1} |G(x) - H_{3n-1}(x, Y, A)|. \end{aligned}$$

If $f \in C^{(q)}([-1, 1])$, then from (1.6)–(1.9), (2.7) and (3.1) we obtain for all $n \geq \left\lceil \frac{4q}{3} \right\rceil + 2$,

$$(3.10) \quad |G(x) - H_{3n-1}(x, A, Y)| = O(1) \frac{\omega\left(\frac{1}{n}, f^{(q)}\right)}{n^q} \{\bar{J}_1 + \bar{J}_2 + \bar{J}_3\}$$

where

$$(3.11) \quad \bar{J}_1 = \sum_{i=1}^n (1 - x_i^2)^{q/2} \left\{ |l_i^3(x)| + \frac{1}{n} \frac{|l_i(x)|}{\sqrt{1 - x_i^2}} + |l_i(x)| \right\},$$

$$(3.12) \quad \bar{J}_2 = \overline{\sum_{i=1}^n (1 - x_i^2)^{q/2} \left\{ l_i^2(x) + \frac{|l_i(x)|}{n\sqrt{1 - x_i^2}} \right\}}$$

and

$$(3.13) \quad \bar{J}_3 = \overline{\sum_{i=1}^n (1 - x_i^2)^{q/2} |l_i(x)|}.$$

It is obvious from (2.1)–(2.4) and (3.11)–(3.13) that

$$(3.14) \quad \bar{J}_1 + \bar{J}_2 + \bar{J}_3 = O(1) \log n$$

Thus from the triangular inequality, together with (3.9)–(3.10), (3.14) and (2.7) one can easily obtain

$$\|f^{(q)}(x) - H_{3n-1}^{(q)}(x, Y, A)\| = O(1) \frac{\omega\left(\frac{1}{n}, f^{(q)}\right)}{(1 - x^2)^{q/2}} \log n.$$

REFERENCES

- [1] S. BERNSTEIN. Bemerkungen zur Theorie der regular monotonen Funktionen. *Izv. Akad. Nauk SSSR, Ser. Mat.* **16** (1952), 3-16 (in Russian).
- [2] L. FEJER. *Gesammelte Arbeiten. Band I, II.* Herausgegeben und mit Kommentaren versehen von Pál Turán Budapest: Akademiai Kiado; Basel-Stuttgart: Birkhauser Verlag, 1970, I: 872 S.; II: 850 S. (in German).

- [3] I. E. GOPENGAUS. K teoreme A. F. Tyimana, Pribliznyii Funciji mnogochelenami na konyecsnom otrezke. (On theorem of A. F. Tyiman, Approximation of functions on a finite interval by polynomials) *Mat. Zametki* **1** (1967), 219–245 (in Russian).
- [4] C. H. HERMITE. Sur La formula d'interpolation de Lagrange. *Journal für Math.* (1878).
- [5] I. P. NATANSON. Constructive Function Theory, Vol. 3, Ungar, New York, 1965.

King Abdulaziz University
Jeddah Community College
P. O. Box 80283
Jeddah 21589, Saudi Arabia
e-mail: muneeralnour@yahoo.co.uk

Recieved April 3, 2003
Revised January 18, 2005